
l;=g+= /sd

1 8,050,000.00

2 450,000.00

s_ dlxnf tkm{ 100,000.00

v_ afnaflnsf tkm{ 0.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
350,000.00

8,500,000.00

l;=g+= /sd

1 5,100,000.00

2 400,000.00

s_ dlxnf tkm{ 300,000.00

v_ afnaflnsf tkm{ 0.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
100,000.00

5,500,000.00

l;=g+= /sd

1 4,925,000.00

2 575,000.00

s_ dlxnf tkm{ 150,000.00

v_ afnaflnsf tkm{ 150,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
275,000.00

5,500,000.00

j*f g+= 3

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

nlIft tkm{

hDdf

j*f g+= 1

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

j*f g+= 2

of]hgfx?

k"jf{wf/ tkm{



j*f g+= 4

l;=g+= /sd

1 5,150,000.00

2 350,000.00

s_ dlxnf tkm{ 100,000.00

v_ afnaflnsf tkm{ 150,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
100,000.00

5,500,000.00

l;=g+= /sd

1 7,125,000.00

2 1,375,000.00

s_ dlxnf tkm{ 450,000.00

v_ afnaflnsf tkm{ 325,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
600,000.00

8,500,000.00

l;=g+= /sd

1 6,065,000.00

2 2,435,000.00

s_ dlxnf tkm{ 845,000.00

v_ afnaflnsf tkm{ 500,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
1,090,000.00

8,500,000.00

k"jf{wf/ tkm{

nlIft tkm{

hDdf

of]hgfx?

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

j*f g+= 5

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

j*f g+= 6



l;=g+= /sd

1 2,850,000.00

2 2,650,000.00

s_ dlxnf tkm{ 800,000.00

v_ afnaflnsf tkm{ 150,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
1,700,000.00

5,500,000.00

l;=g+= /sd

1 9,875,000.00

2 1,625,000.00

s_ dlxnf tkm{ 450,000.00

v_ afnaflnsf tkm{ 500,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
675,000.00

11,500,000.00

l;=g+= /sd

1 7,450,000.00

2 1,050,000.00

s_ dlxnf tkm{ 300,000.00

v_ afnaflnsf tkm{ 300,000.00

u_ cflbjf;L÷hghflt, h]i& gful/s, 

lk%l*Psf ju{, blnt tkm{
450,000.00

8,500,000.00

j*f g+= 9

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

hDdf

j*f g+= 8

j*f g+= 7

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{

hDdf

of]hgfx?

k"jf{wf/ tkm{

nlIft tkm{


